Sl No.: FASTS

ugley
GTEuT

2018
Ljerertludlwiéd
(Ll ugliyg sib)

e wdssiul_Rerer Gopbd @ 3 wenfl] [Qurgs wéGuearsar : 300

a‘iiwrrei;s@é;@ ufloafs@gaper Epssam_ ohlajmrsmer saaorsl Ugssab

- 10.
11.
12.
13.

14.

wp&fw siflajenyser
@Es eflenng Qer@ly Carey Gasrfi@eusng 15 HIblL_kis@hé @ (perengns clleranT LU Tyis@hseE auphsuu .
Bis eflams Gasneuy 200 camssmand Canen (Herearg. aflenweallés Qgmrhi@gupan @Guaﬁlalrrg@grr@ju&w
cr@var efla@masEnid aufleswrs @QLib QupmeTarareur ereruamgub GlenLulle) egilb G]Gug)gg,g;rrmmm 2_eTeeneum
cranmuagLd  sfunisgs Qemaereyd. gGsaun  @epun® Gouber, Sgomer usEH Bl RsEhEEGET
s@psarstaiiurariiLn Qsfelss, sflwurs odrer Gaulmrm eflents Qsr@lGeer QuOpE Gsrarer
Ceuan(pid. Cairey Qgmmudlw Gery, apenpuiL e eflerms Gsr@iL wrpdls SriiuL wm’ L g,
e dilaméa@s@h clamweflsgab. erden dilamés@Esb swiret wHOGuaTser Caram ama.
2 Ris@EoLWL ufley aanman BBsL UsssHar awg Goa apaauis gpEsear Smwbgare @S5 Hriser
er(ws Ceuant(Hb. Couml crang b elfleng GlgnELble T(pHS saLng).
ellepLsamer GH&g &1L aTan, dileL SSTeT Qan 2 msEhHE Sions sansrafliurarnmd sylu@i.
2 misERoLW eflamssn@uy aarmen (Question Booklet Number) a&]ml_g,g,naﬂm EiramLmbd ussssled
Sisnhsen HenwpgiaTer @Lgdd fab sdag smew Bn @vymLw ubgdpameans CuameSland @Hlsgds
s Ceanr@w. Cupsar_ecpop o gsraild Hhusdr @llssns erniirg sauband Csreurameantw
siflafsenasuiier GO Herareurmy HL ey dens Cop@snemeri{Him.
geu@aung eflameayd (A), B), (C) wipid (D) eren pens eflent_senené Qe (BHereng). B eneuseilds G g stlwmen
aflenL_enwis Caiiey Gewig) eflen.sanafler @hldsis sm L Ceusmt(hHb. geammé@ Conu L sflwunear allensmer gym Caerellde
EmLiusTss smdame Brsear Nas aflunag aam aangs smddiisCar oips el aSlagsrefld @hless
s Ceuamr®. eriugwimleud exm Caarallag @Cr e faLamugstar CaibbsHas GoiamHin. 2 misEpen
Quongs wHlPuenser Bruser ellen._sprefle @ilegis sm_Hib sflurear efla saflen sramanflsamamuis QUTmSsS).
eflenLssrafles eiQeunm Gl arameanlipEn ardfle @), @), © wimb (D) eren st UL ks 2.¢Tarer. G
CoarellsE e waliss prsdar sfQwer sman dlarmu @Cr gm eulL HHd LG Hob g Hmenn
Bmawwerw ubs apenan Cuemellamd @Hlsgs sm L Geuanr®ib. geubeun GCaearellssd o eflalws
ConpRs®ss e ssmafler @hlés Couam(b. em Caaellss qamsg Gopult el wafigsre oips el
FEUDNENSEH HHSIUMD. 2 sryerons Hrige cramueng sflwren eflenLwings Emblamd g Glaraumony
@DEs1s a1 Geustwr(Hi.,

(O8 _JORO)

frauser efems Cen@ule eahsl LsssmsLD Bestan svag HfssGar saming. Gsra Crrsda Qb5
dllenng Qengl@aeaCur g el ssraaCur Csiays saL sog el { euaflilie) erHEgF CedassaL rg).
Caiiey qpuhbslen prsdr 2 ms@EpamLw ool ssrmas sansrafluureriiib Qsthis el Couar(ib.
Reueilams Agr@uiamang Caney aplghgelL e Hrser 2 ma@hLel ol (REgIE blewaenid.

@MOyser arpdl unrliugnE eflenms Qgne e s §l usssHDE Wausssmg 2 LGLINESHEE Clenerarend.
eflenng QgnaEa eflentanw @dluile Ceur, gdlA & smiLCeur sl_ng).

Smfle algeild Qar@asiulHarer @GmlULser STe (Lplg.eUTess @ Lw.

efla@maniugnyisd efle welssmod o der efamssafler Cwrgs eanaflsamsamu o jgnefldr LssD 2-d@
SsnOser o fw s g eapd Flriveb. @spbeea sg(Hswns phg HOlL_ ks cuphsu@ib.

Gupsar. sdleymrsaiid amsunraug Bhlamd Coreuramennud (pubaiBEEL LU H@masHEheHE@ 2-eemns
CoAGw erean 2iflomssULGADS.

- SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS I

[Turn over




X denotes independent variable and Y denotes dependent variable
X: 8 10 16 14

Y: 45 48 32 35

The coefficient of determination of the above data is equal to

W 0.85 (B) 0.95

©€) 0.75 | (D) 0.65

X - erevrugy emiupo wrd wHmb Y - eremug,) emiyenw wr

X: 8 10 16 14

b & 45 48 32 35
Cule Qar@ésuuHerar efleurmisEnas Srorafléaiiun’ L Qapeuneag)

A) 085 (B) 095
©) 075 (D) 0.65

The coefficient of correlation
(A) Can not be positive
(B)  €an not be negative
(C) Is always positive
\V Can be both positive as well as negative

L (Hmeyd Llepeurang

A)  Cpflenwrs Geéeamoedmiiug

(B)  edflewwrs @aoarodmliug)

(C)  eruQumupgib CrMlenwimeug

(D) euQumrgib @meuamswrear CrflanL wHmd erdlflenwrs Gmliug

Which of the following can be found from a histogram?

(A) GM
(B) AM
(C) Median

@ Mode -
- 8Cy Qer@ssiiu (erarmasaid org) Qedueus uLgdler apad se (HLdlig&EEad
(A) Qumésea syradl (GM)
(B) sl (& ayred (AM)
(©O) Qb
D) w»s6
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4. Which of the following measurement scales is required for the valid calculation of Karl

Pearson’s correlation coefficient?

W Interval

(B) Ordinal
(C) Ratio

(D) None of these

£Cp Qsr(asiiu Berer seraeausafiar siera|Gamdla g srraGuisaila @UBDyS Qa(pemau

sflwrs samsd HeusnE Comeuunar ieTeyGame @

@A) @ Qe Siare Gand

(B) auflensweney emeyCGamed ;
(Cj eds syereyCame

(D) @eundla ergia|b Gaoama

5. Coefficient of determination, 7% can be written as
(A) SSR/SST ) : ¢
- 1_[3351
SST

(C) SST/SSR
27 Both (A) and (B)
Srorans@eup 1’ @eaTmTs eT(PSEITD

(A) SSR/SST

®) 1_(33&7}
58T

(C) SST/SSR

D) @rem@id (A) whmid (B)

FASTS 4 b



=1

If it is known that an event A has occurred, the probability of an event E given A is called
(A)  Empirical probability
(B) A priori probability
(C)  Posterior Probability
W Conditional probability

Aepsdl A qpenCu Bappgiararsrad, A mw sribgerar om E fapsd Hepagpsrer flapsaamey
SDE@PUILIG)

&) ey fapssal

(B) @ apan Hapssa

(C) YGen flapssa)

D) Fupsmen Hapseay

If A and B are two events which have no point in common, the events A and B are -
(A) Complementary to each other
(B) Independent
& Mutually exclusive
(D) Dependent

A wpmyib B flapédsaia Quirg yarall @oargre oips Hewpsdlad A whmb B auw
(A)  gamsQsramy wrhn Hlepss) -

(B) sarafisamsurag

(C) qeanenm eenm efledELd Hlapas

D)  geverp geTm STTHSS)

If X and Y are two random variables then

@A)  E{xY?|=EXY) EX?)

® E{xv)y}=E(x* v?)

© E{(XY) REX)EY?
W E(XY) )< E(X?) E(Y?)

X wihmib Y @rewr® sweumiliy ordlursne ise
A  E(XYP}=EX*) EY?)

® E{xyr}- B(x* v?)

© E{XY)?BEXHE®Y?)

D)  E{(XY)|< E(X®) E(Y?)
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9. A machine part is produced by three factories A, B and C. Their proportional production is
25, 35 and 40 percent, respectively. Also the percentage defectives manufactured by three
factories are 5,4 and 3 respectively. A part is taken at random and 1s found to be defective.
The probability that the selected part belongs to factory is

(A)  28/503
G 4/11
(©) 14/276

M) 15/276

e Qupdrurswrarg A, B wppw C—ear 3 Agr@ipsraasarmd surflssuiu@dapar. oemeusafier
swriluy elldlgorang wpepCGu 25%, 35% wpmib 40% Cuogib Gerpwrer swrfliy eldgwrerg 5%,
4% wHpb 3% erafle) @ UTsGms FeumilL panuile Care| Daligale g Wampwirs @ mULGTe,
25 Aerinereaenu Caipbg Urswns QmUusnarer HlapsselTearg)

(A)  28/503
(B) 4/11
(C) 14/276

(D) 15/276

10. A speaks truth 4 times out of five and B speaks truth 3 times out of four. They agree in the
assertion that a white ball has been drawn from a bag containing 10 balls of different
colours. The probability that a white ball was really drawn is

(A4)  3/50 ®) 127
(C) 11350 7~ 81/82

A eranueuii S5-e pren@ pepmud, B eremueui 4-a epem (pemuid 2 arann Guad Blaauile,
DeUTSHET, @@ Geudtener ubens, 10 alsglurgoner eearanmsar Qaram UbSHIGSET o @rar
euwelphg ea@uusts o nd Qe asssdsrar@arar Hlamauid, 2 @ramwurCu em Ceiaramer
upbeng eTHuLsHaTen Hlapssamag

(A)  3/50 (B 127

(C) 1/1350 (D) 81/82
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12.

13.

The cumulative distribution function F(x,y) of two-dimensional random variables x and y

in terms of probability is equivalent to

(A) F(x,y)=P0<x<x,0<y<y)

(B) F(x,y)=P(-0<x<w, —®<y< o)
W F(.x,y)zp(dw<x£x,—oo<ysy)
(D) F(x,y)=P0<x<x)

@ uforear swamily wrflsd X wHND ¥ e Gelley Lreue sy F(x,y)-ew, Hlspsseuns
GOLAHeUSHE SOWIEIE)
(A) F(x,y)=P0<x<x,0<y<y)

(B) .F(x,y)zp(—oo‘{xsoo,—uocys::o)
(C) F(x,y)=P(-0o<x<x,-0<y<y)
(D) F(x,y)=P0<x<x)

The heights of fathers and their sons from bivariable, variables which are

\’W Continuous variables

(B) Discrete variables
(C)  Pseudo variables
(D) Random variables

ILTéseT HYID Seuraafer wadsafler o wykismar @murBluiey epaiors GOABD Curg), SiBS
wrhsemer GO Heug)

(A)  Qgr_agfluren wrlser

B) Ggrorsdlupm wrHlser

(C) Qumuwmer wrdlser

(D)  sweumiliy rH&er

'The probability throwing an odd sum with two fair dice is
(A) 1/4 (B) 1/16

© 1 \‘g}f 1/2

Rupisna @re® UsmLsmer 2 L (HD Qurpg oL EGL @H@D L& cravaetles gl (b

Gl;_r,rre‘maauﬁ]siﬂ flspsseuneg)
A 14 ' (B) 1/16
(&) 1 (D) 172
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14. In a normal curve 95.44% of observations are included in the range is

(A)  x+3c

Crienio euaneGam g6 95.44 #s56551d ei&fleb o eremLSHlwignes seawr_Hudiu @eﬂmg.
A x i 3o |

(B) x+196

©C) xt20

15.  Poisson distribution in a limiting case of binomial distribution under the following

conditions

(A) n—>w p<l, np=-4
(B) n—>0 p—->0np=A4
(C) n—>0,p>1 np=-41

\585’ n—->0o p->0np=24

SpaumueTeunmiar ahs Blubsmearsemerds Camer ([ u_rruhramfrah ugeuereng FmmILL ureuelld GBS
QupliupGéng.

(A) n-oow p<lnp=-1
(B) n—)O,p—aO,np=l
© n-o>0,p-o>1np=-4

(D) n—>op—->0np=A1
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16. If x ~ N(u,0°) then z=>_#~ N(0,1) and Z?* =( J is a chi-square variable with
a

degrees of freedom.

\ﬂ( one (B) two

©C n D) n-1

x ~ N(u,0%) opgid z = chll O N(0,1) Cuogw Z*= (x a: ,u] TATUG EEUTES ugémurr@ﬁa.
o . o

DIS@IEMLILI FL_ 1 GIEHLD 6TEwT el |60l Tew g ——————— By @Lb.
@A)  geay B) Qran®
© n _ M n-1

17.  The degrees of freedom for student’s ¢ distribution based on random sample of size n is

n-1 B) n
W

(C) n-2 (D)

aw@Leamien (- ugaudlar slgdenn canafldms aaug amiLLS sm el 'n' @yerg)

R ETTHE @) (HESLD.
A n-1 B) n
n-1
© n-2 D)
2
18. Moment Generating function of F-distribution is
2n ' 2n
A 1-— 1+—
o (5w
W does not exist ' (D) exist
F- ujeugné@ dniiys Soeamar &@eu T&(@LD FTLICENTEIS) CTEMUST@HLD.
2n 2n
A 1-— B 1+—
A) { 3 } (B) { 3 ]

©) @ouuspe e ar_rar sngHwib @;;i)mm D) Qmsdeamg
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19.  The 90% confidence interval for A in Poisson distribution is ——————— (when the sample is
large)

A) (ftl.645\/§) ' (B) (fil.545 X(n_))

o (T:1645VX/n) @) (X+1.645n)

umusren ureualley Aellar 90% pbilsms @Gen_Heuaflwreng) (GLmhigm M)

(A) (X +1.645VX ) (B) {)? +1.645 )_((n)J
- (© (§¢1.645 f!ra] (D) (§¢1.645J}2)

20.  An estimator @ of a parameter @ is said to be unbiased if

W The mean of the statistic is equal to the parameter
(B)  The variance of the statistic 1s equal to the parameter
(C) The mean and variance and equal

(D) Mean, median and mode coincide

wHOSE Lrenn 6 an LisLaT@aiLTang BaTGUTEE erdllLmiuTs olewh Gurs emaupid gGCHeD
86 (PueilDEG THOETS Si@dng)

(A)  yeraflulle uaruetaneuulan sgmafl (p(pens s @d uaTuaTameusE FLLWTE B)(HEE D

(B)  wryurl () uarueTencuullan srrafl WppaLEESTEGS LaTUTMAIE®S FWTS @)(HEGLD

(C)  aymaf Hmb LML) SiaTeneu FOLTELD

(D)  apmafl, @an_flene wHmib (p&@H FoLIGD

21. Raw — Blackwell theorem enables us to obtain minimum variance unbiased estimator
through

(A) Unbiased estimators
W Sufficient estimators
(C) Consistant estimators

(D) Efficient estimators

greu — AemréGleued Capmwreng), B&Am wrmum H BerCursg erdlTumiiy wrmyumigenern e mD
FgCaa@Ib e LHULELLTD 5HAng

(A)  dppsswupp LHLSE

(B) CGurgorer wHuS@H

©)  @s5CUAD LBISH

(D)  dmermrar wHUIE
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22.

23.

24.

The likelihood function of the random sample (x,,x,,---x,) is

@) L=]]f(x;6) ® L=]]f®)
i=1 i=1

W L=[fx:0 ® L=]]fe)
i=1 i=1

(2,25, x,) erenrm wrdlflé smbler s Hmlienu erihg TiUe6T eraTLg) [YeanalmeaameuHmIET 6rg?

@ L=T]fx:0) ®) L=[]/®
i=1 i=1
© L=[]f@;0) ® L=[]fe)

If (X,,X,,X,,X,,X;) be arandom safnple from N(u,0*), (where z is not known), then the

unbiased estimator of u is

(A) ,::X1+X2+X3 (B) £=W+X4

X, + X, +X:; +X X 4o X, ¥ X X, +X
C PIE o 2 3 4.1 ) 2 3 1 5
(& 2 4 7 5

(X, X,,X5,X,,X,) eenp sag N(u,0°) aam Quidoe urauddmbs a@ssiiul L 0gas
(u QAsAwrg flevewudler), uaflerm Gmpsflunm wHSLnes,

at A KXy X,

A 5 + X, B) ¢ 3 X,
© t=X1+Xz+X3-+X4+1 D) t=X1+X2+X3+X4+X5
4 )

If x,,x,,"--,x, be a random sample from Bernoulli population with parameter 'p', then the

* consistant estimator of p(1-p) is

|
i
T

s

(A)
© X1+X) D) @1+X)

X, Xy, %, aaug 'p @ uenuateawns QetarL g Guitperd GQsr@Hller QMBS
a@&siul L wrdf sap erafler p(1- p) e QurmsspeLwi IS Teang

A X B) X(1-X)
©) X1+X) D) @1+X)

11 FASTS
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2b. The minimum sample size for estimating # with confidence coefficient (1-«) is given by

(A) 62/E2
B 72 [E?
© - zZ/E?

D) Eo%2?

poQsms Qs (1-a)Qmpgl sm erey BefHugrs @muler, u sarsdHausghsrer GsHron

ENGE
& o°/E?

B) o°Z%/E*
© Z;/E?

D) E*s’Z?

26.  In all probability we expect a standard normal variety to lie between

A =1 B) +2
@ =3 ‘ D) *w
Smeansg) Bapsseian wHuyser, srorar @ueableal uyeueler ———— erdlTumiiy wHiyéss
Qe LUl L grs @ mesa Coauam (i ' -
@ =1 (B)
C) +£3 (D) £
27.  Likelihood ratio test is based ————— estimates.

(A) Least square
W Maximum likelihood

(C) Minimum variance
(D) Moments

Bepss6s elldlg Cargmanunarg ——— wHUSTH igliuaLubler syeg.
(A)  S&fmy auissapenm

B)  BLQUY Bepssss wen

(©) Bsfy wrmun@

(D) eewssl Qumsss Osnms
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28.  The assumption that the population standard deviation is unknown is for ——— test.

(A)  Chi-square B) F
NC D) Z
puews demgduller ureuduyg Aaflurg eaaib Sgwrand ————— Csngaenéanans,.
(A) owseuTss B F
© | D z

29.  The scores of 5 candidates prior and after training are given below :

Prior: 48 37 69 96 65
After: 58 49 81 86 175

To test the effectiveness of training what test is used?
(A) Normal B) t

\W Paired ¢ D) F
5 wramreuirseatlar LudDAEE aper b e b a5 wHIAUETsEr S QarHésiiulHarerg.

wery: 48 37 69 96 65
Yery: 58 49 81 86 75

LWiIné gmeietengm arar SiPlw eThS Camgenan LwenL Hgg Ceumd?

(A)  @Québlama B) t
(C) @awenr t ) F
30. For testing significance of sample correlation coefficient, the null hypothesis is

(A)  Population correlation coefficient and sample correlation coefficient are equal
(B)  Population correlation coefficient and sample correlation coefficient are not equal
W Population correlation coefficient is zero

(D)  Sample correlation coefficient is zero

&am @LBney Gepeden lamasgaranio Cemgeananulle @ent o1 (HCamar ————————— @b
Q) puew Gs1Ed e Hne) Gaad, sap @l Hnay Gepab swib

B pyowstEd el Gpa dawed, sap gL Hpey Gaeyb swwda

©)  puowsied elOpey Gaw il wbd

D) sy @ Owa) Asp LRBWID

i 13 FASTS
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31. Errors committed in presen.tation of data are categorised as
(A) formula error

(B) human error

W non sampling error

(D) sampling error

afurisamer aupriGeudle e QauSmbETH g6 aums
@A) &sdr Gy

(B)  waflg Genp

©)  wrdfl apep #1715 Gewip

(D)  ordfl apenp sriHs GDen

32.  The list of all the items of a population is known as
(A) Sample

(B) Sampling distribution

\_LG)’ Sampling frame

(D) Sampling error

@@mm Qsr@duler smeansg eNurmaEnbd Ligweltul L re @eieurm Hwiu@Spg
A)  ap

(B) samugeud

(C) wrdf s Lb

D) sap ey
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33.

34.

35.

If the experimental units are likely to fail to respond, what 1s a suitable design?
\(?” Completely randomized design '

(B) Factorial experiments '

(C) Latin square design

(D) Randomized block design

Cangamnen e @Gs6T LIl 57 SeUnie.s) Cunéd Gmmsre, sflwrar Sl i@wl ererar?
A) - puyeowwurs gGaFmaumssuul L Sl b

(B)  amyenfl Canganer

(C)  @sden a5y HL ey

(D)  swamiiys s (S L Corgmen mwL

What is the purpose of local control?
(A)  reduce the number of treatments

W~ reduce the error variance
(C)  reduce the number of blocks
(D)  reduce the total degrees of freedom

Blapeilé s HLum_igem Crrésb ereme?

(A)  Gsngenar Qunr_safler eramenflsamamu GanEsean
(B) e wrmur e G@DHSeD

(C) Qsr@dlsaflen cranaflémnsaw Gaonsse

(D) Qurés sl igerenin sam&ener @&amDEEH0

What is the error degrees of freedom in analysis of variance while analysing the data of
K x K Latin square? '

W (K-1)(K-2)
B) KE-D(EK-2)
(C) K*-2
D) K*-K-2
e K x K @gSer sg)7 elurgens <prmuyb Qurepg wrpur (o ugumieile ey sl igamemin da)
GToHENT ?
@ (K-1)(K-2)
B)  K(E-1)(K-2)
© K*-2
D) K*-K-2

15 FASTS
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36. Y, =abc' is
(A)  apower curve
(B) an exponential curve

(C)  alogistic curve

\ﬂ)’ a compertz curve

y, = ab® eremug

@A) 2p&E cumeray

B)  <psms cumeray

(C)  sseys Qumss cuanerGan®

(D) Cambuii 6 EUEHETEY

37.  If the equation of exponential trend with 1989 as origin is Y =15(1.8)* . The equation of

Y =ab® with 1991 as origin will be
A) Y=15 (18"
(B) Y =486 (1.8)F

& Y =462(18)F

D) Y=15/(1.8)*

1989 - g @vwiydaiwurs Qe ¢ SHPEEEEH Cursdear swarur® Y =15(1.8) aafle
1991-g avwwiyereflwns Qsram. Gé@sEH Y = ab”® swerun@ eranug

A) Y=15@18)"

(B) Y =486 (1.8)F

(C) Y=4.62(1.8)~%

D) Y=15/(1.8)*

FASTS 16 -



38.

39.

The annual trend equation is Y =148.8+7.2 X . The quarterly trend equation is

(A)

Y=12.4+18X

P Y=372+18X

(©)

(D)

Y=37.2+0.2X

Y=124+0.2X

Y =1488+7.2X erenug @m aunLsdar Cursgs swaur® aafld m sronamger CUmsEs

SLOGTUITLTEUG)

(A) Y=124+1.8X
(B) Y=372+18X
(© Y=372+0.2X
(D) Y=124+02X

Moving average method of fitting trend in a time series data removes the effect of

(A)

W Short-term movements

Long-term movements

(C) Cyclic variations
(D) None of these
Bawr_amral
@euaflGummSma.

A Bawr sre CUTEES
(B) | Gnédu sre CuTsS
(C) &pnd wrmur@se
D)  Qweu argiayb Gdama

Curs® oe@bUUSR  BESMHD

17

gynafl  apavmwinans)

a1 Slmenar
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40.  The terms ‘recession and depression’ refers to which of the following?

(A) Seasonal variations

.\M Cyeclic variations

(C) Trend

(D)  Irregular variations

“Qenaflinésd wHmib wkgHlane” eramm eurdSub eraunGnr® QsmyamLwg
(A)  uvmausTe LTOUTHSET

B)  spné wryur@ser

(C) CGursE Serenau

D) eumsHn wImLITGHEET

41.  The multiplicative model in a time series is given by

A T+S+C+I

B) (T+S)*(C+1I)

©)  (C*D+(T+8)

D) (T+C)*x(S+1)

s Qs aflas @, QL(HEs® auigiaIDLIL| TaTLiS)
()  TxSxCxI

B) (T+S)*(C+]1)

(©)  (C*D+(T*S)

D  T+C)*(S+1)

FASTS 18



42. -

43.

In index number if 21— -1 =0, then it is
01

(A)  Circular test

\V Factor reversal test

(C) Not known

(D) Time reversal test

GOSE eramemTrang FuxQn ) 0, aflé 215

' 01 1

A)  spné Gerganar

B)  amyesfl rhm Cansener

€ Qsfwueddma

(D)  amaw wrhmy Cargamen

P x Qg

BGW.

The condition for the time reversal to hold good with usual notations is

N/
(B)
(©

(D)

(A)
(B)

©

By x Py =1
Py %Py =0
Py + Py =1
Py /Py =1
HTLD u‘m,rbgu Cameflev 2 arer HlupbFanen

By % Bo=1
Py xPyy=0
Poy + Py =1
Py /Py=1

D)

19
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44. One of the limitations in the construction of index number is

W Choice of the type of average
(B)  Choice of investigators
(C)  Choice of variables to be studied

(D)  Choice of base yéar

GHSLD eram ianivd@Eid Gumg eHUBLD G(H eUeTPenD
(A aflw rrsﬁT grraflenw Goirey Qauigse

(B) Gsireurerismer Ggirey Qalige

(C)  uysEw wrHldamer Coirey Q&u'_llrgab

D)  sgiveL armL Caia) daligd

45. The errors involved in the construction of index numbers are

\@W#” Error of sampling

(B) Weighted relative error
(C)  Nonsampling error

(D)  Price relative error

GOSLG aransar si@wéEh Cutg gHUGD SaNEeT
@) sy Gy

B) el Qe

(C) ammsryrg Gen

(D) eflena ldlgamy Ganip

FASTS 20



46.

47.

48.

Stub stands for

W The row heading

(B)  The column heading
(C)  The title of the table
(D) None

Flepn&genen o eTeiLig)

A)  Hers sty

B)  giwews swaiy

C) silLamaruia smaliy
(D) Qeumdlén ergrayd @evenen

Whether classification is done first or tabulation?

(A)

Classification follows tabulation

\LBV Classification precedes tabulation

©)
D)

CU@ELIL[HSHISHH DiDwE I LeumanliuBSgIHe eyl pgeded pan_Eumid

(A)
(B)
(©
(D)

Both are done simultaneously

No criterion

S Lauemanen tgr g euamsiL(SSISQ
S| L_GUEHEmTE (S, (LPEDT eUanELILI(HESSISe0
@ eusllyan(® eCr swwdHle

L inTeneel @denea

Statistical data are collected for

(A)

(©)
D)

Collecting data without any purpose

' W A given purpose

Any purpose
None of the above

yarafludwa saeudsamer arsmé @ Caafliubgeamme

(A)
(B)
(©)
D)

TIhS STyEThIGET @leaunre efleurmigamer GCasfluug,)

QetRasuulL srrarsSnes

- wrlgayb smyarsHnss

Cwle ampuul L age|bloame

21
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49.. A study based on complete enumeration is known as
(A)  Sample surgery
(B)  Pilot survey

W Census survey

(D)  None of the above

Q(H SpIUTEITH) (P(PEMLDE Harsbla(Hlemu g UL s Qarar.sharer @uUw
(A)  sap seeBuy

(B)  qpenGanrig saré&QaEBHIULY (<Uey)

©)  ussatiy sansbas@iy

(D) Cuwle sapliulLameu ergieSleene

'50.  The two dimensional diagrams are

W Area diagrams

(B) Linear diagrams
(C)  Volume diagrams
(D)  None

@ uflresr elendasLILIL bmeng)

(A) Urliy euenruL LD

B) CpiCsr® euenyuLib

C) SLmsd euepyuLLD

(D)  Guhemdlwueuphe ergiayb Gdena

51. How will the Arithmetic mean be affected by adding a constant ‘A’ to every item?

(A) X=*A
B) X/A ' .
© X-4A

\QD( X+A

galeirm ellursfland om wrildlall - ‘A’ @au sl (Peugnd sl BFerrefl  ereueumy

unrdlssliuREnOgeammed
(A XA

B) X/A

) X-4

D X+A

FASTS o2 | -



54.

If C.V. is 50, S.D. is 10, then X is

(A 5
(B) 10
(C 15

W7 20

wrm elldlssbanp (C.V) 50, i elevésnd (o) 10 erafled gl (Hasyrafuler X iy

A 5

B) 10
© 15
D) -20

Coefficient of range is

© R;z;f
ei&s50speuTang)
@
o &k

What percentage of values lies between 5" and 25 percentiles?

(A) 15 per cent
(B) 30 per cent
(C) 75 percent

M None of the above

oThg sg6lldlasdlen pdliy 5 g eug wHmD 25 eug) s569l558D&@; Qe Cu o drerg

(A) 15sg6ildlgn
(B) 30 szeidlgbd
(C) 75 sz6élsb

(D)  Cuwle sgaplulL erge|dlaeme

Vo

23

(D)

(B)

D)

Rl ‘_R2

R, +R,

R, +R,

2R,

R -R,
R +R,

R +R,
2R, .

FASTS

[Turn over



55. Find the probability that if a card is drawn at random from an ordinary pack, it is a

diamond
a) 1/2 | W 1/4
(C) 1/3 (D) 1/5

om sty s’ HOmba @ Flor svamuly wpean¥d Csiey Qaugrd, =ips F.H
GOLLDGRTL - 24,8 @mUushHErar flspssmeu serm[H Gy

a) 1/2 (B) 1/4
(© 1/3 D) 1/5

56. A box contains 10 white and- 6 red balls. If two balls are drawn at random. Find the
probability that (i) both are red, (ii) both are white, (ii1) One is of each colour

(A) 2/8,1/8, 3/8
B 1/83/81/2
(C) 2/8,3/8,1/2
(D) 1/9,2/8,3/8
@ duiigulia 10 Qeuctener wHMIL 6 flaluy UbgIGET 2 drerer. dld @ream® Lbgsmar swaumiin
Caiey Gewgdler (1) @rampd Heuly (1) @uawdid Geudrenar (iil) Grewr(® euGRTERT S S QILD
gauGleurany, @musnarer Hlapssame. setr (Gl
(A) 2/8,1/8, 3/8
(B) 1/8,3/8,1/2
(C) 2/8,3/8,1/2
(D) 1/9,2/8,3/8

57 If X 1s a random variable and r is an integer then E(Xr) respresents

(A) ™ central moment
(B) " factorial moments

\V r” raw moments

(D) n” central moment

X erenug) g swaumiiiy wrd Cogih 7 g (pgere arafle, igen E(X") - aw @O Heug)
W) oy @wLESBULFHDE '
B)  r - eg asmal HmuysdHpen
©)  r-agwe douysdpar
D)  n-eug WA HULSS De
FASTS 24 -



58.

59.

A coin is tossed six times. The probability of obtaining heads and tails alternatively is

A) 1/64
B) 12
W 132

(D) 1/54

Q@ prawsms 6 e sar@Hw@uripg), sealb ey wrd wrdl el(peugnarer flapsseunag

(A) 1/64
®B) 12

© 1/32
(D) 1/54

If AB and C are three events such that P(A)=03, P(B)=0.4, P(C)=0.5 and

equal to

@A) 365

N~ T

© 15

(D) 2/5

A, B,C erarm

sWTENE
(A)  3/5
(B) 4/5
€ 15
D) 25

fapsflsaflan  Hapgsaseurargy  P(A) = 0.3, P(B) =04, P(C) =0.5
P(AB')=0.2, P(BC)=0.3P(A'B'C') =0.3,P(AB/C") = 0.1, eefl® flaspsse; P(B'/C')-&@

25

'P(AB') = 0.2, P(BC) =0.3P(A'B'C') = 0.3, P(AB/C') = 0.1, the probability P(B'/C') is

LD M) LD

FASTS
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60.  The »* distribution became standard normal distribution if
(A) n—w B) n-o 0

N =1 M) n-—-w

ma—aurs LFeue erGLTg CriTeUILITeIeTS LTHID?

(A noow B) n—-0
(C) R=1 D) n-o-—w
61. The probability mass function for the negative binomial distribution with parameter r and
pis
O, e e
(A) [ )P’qx
r—1

(B) [' "J(—an*
X

—_ J‘
o [T
X
\,(B‘r All the above
erdlflen FmmUY ugeudllan HEHsEa| LTSS FTTLD Sgan uFLiLeTeeuud 7 LHMID P TG
G D.
x+r—1
(A) Jp’q’
=l
— r
(B) ](*1)‘;0’@‘
x
'{

© | "]p’(—q)*
\ X

(D) DIENETHFILD

62. In a normal distribution, the quartile deviation is approximately equal to

(A) 4/50 ¥ 230

(C) ut2/3 o D) o

@Queflenals uyeuellen sTawmer ella&swmang CHITTLLNG FLDIDMEHIG) Dp(&LD.
(A)  4/50 ®B) 2/3¢

(C) wut2/3c D o

FASTS 26 &



63.

64.

Ten coins are thrown simultaneously find the_probability of getting atleast seven heads

180
A PX=27)=
(A) ( ST
176
B) PX<T)-=
B) ( ST
180
C) PX<T)-=
e ( Ty

\ga( PR 5 Mm®
1024

USGl BreRTWRIGmaT @atpns seaur(Hn urpgl G@nbeuL b 7 sma efl(peush@errar Hlapssedamar

ST H

(A) HXzﬂ:ﬁ%
(B) HXsﬁ:%gj
©) }%Xg?):ézl.
(D) 1%X27)=igi

The area under the normal curve within its range — w0 to + o is always

(A) Zero
W~ Unity
(C) Infinity
(D)  Finite
Quablensy cuenarelle Gﬁé@&@mmuﬁlw —o0 t0 + o0 eueny 2 éer LFliueTe eriGlLmpgID
@) m&E .
(A  uymswors
B)  geprs (1)
©)  wpyuppsis
(D) (P14 CTCTHTS
27 FASTS
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65.  If (x,,x,.....x,) be a random sample from N(u,c”) then

W the sample mean is more efficient than sample median

B)
©)
(D)

the sample median is more efficient than sample mean
the sample mean is most efficient than sample median

the sample median is most efficient than sample mean

(X, XoyenX,,) GTETD S0y N, 07) 60 @i aHésuu@Ewafd

(A)  sdlen spnaflwneng) sadlen @enLHlavavemw el s SHparmeang
(B)  amflan QenLflewawimang sadlar srrafleaw il 258 dnearmeng)
(C)  saflan spreflunang sadlen Qe Hlaamenw el flau’s Hpanrans,
D) sl GerL_Hlevawrerg sapler srrefaw ofl sidlsuls dpamang
66. Confidence Interval for population mean difference can be found only when

g

(B)
(©)
(D)

the observations of two variables are paired
the two variables not paired
the two observations are independent

the two observation are dependent

@ yer(H Qgn@dsalan syrsfsarar po9sms @ent GCleuef sam_HluiubHeus

(A)
B)
(©)
(D)

Gyewr(H) rHl&aTen 2 neysEHD G enerTns B)(hHse
@ram( wrl&Eps@n Gl Cu @eamubn Sesenin
@ rewt(® wrhl&@Epn sTTupDS

@ et () wrdl&Epd ETTLenLLIg)

67.  The concept of consistency, efficiency and sufficiency are due to

(A) J. Neyman
@~ R.A. Fisher
(C) C.R.Rao
(D) J. Berkson

255 Cundlp, Hpemer wHmbd Cungonear WHUTHsmar M APsLILGES WU

(A)
(B)
(©)
(D)

FASTS

J. @pwen
R.A. Qegri
C.R. gmeu

J. Quigaer
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68. If X ~ P(0), then the consistant estimator of [%) 18

n 1
5. B e
Zx; oy Zx;
© =5 (D) Sx,
= .
X ~ P(0) eraflad (%)mﬁl@@ Qummdsaperrw wHISLLermg
NG o
n 1
A S By e
& o ® 5
© & o =,
n
69. In interval estimator if we take @ =0.05 then we get

w 95% confidence limits
B) 99% confidence limits
(C)  90% confidence limits
(D) 0.95% confidence limits

B sms Qe Qeuafiuda o =0.05 eafld, pwiE HaLliug
(A)  95% pbb&me erdvana

B)  99% pQseams erevenad

(C)  90% pbGsms eraanew

(D)  0.95% p9&ams eréena

70.  An estimator 7, which is most concentrated about a parameter 0 is the

(B) Consistant
(C)  Sufficient

\)DJ’ Best

0 én Bg) 18e seuand Qeguégd wHUSLrar T, g —————— wdSEH eremui,
A Aopsflupp

(B)  @s5Gumép
(C) Gurgomer
D) pow

o 29 FASTS
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71. Consistant estimators are not necessarily

(A) Unique (B) Efficient
y Unbiased (D) Sufficient
Qurmssaperw wHISLmang WerarueaTand argieuns @) (HaEsCaariyw sLTwlldeme
A) saflsgareLuomLLgTs (B) Sparmengrs
(C)  pearGurée erdllunriuns (D) Curgiorengrs
72.  Anestimator T, =7T(x,,x,,...,x,) is said to be an unbiased estimator of y(8) if

A)  ET,)=y Vyeo
W ET,)=y0)v0c00
(C) E(T,)=0 Voey
D - ET,)=T, VT, ex;
T, =T(x),%,,...,x,) & w1 ereneuing @mé@d Curg sigear barGurég erdiummiy waS@
2jemevey y(0)
(A) E(T)=y Yyeb
B) E(T,)=y0)VOcOO
(C) ET,)=6 VOey
M) ET)=T, VT, ex,

L Let (X,,X,,X;) be a random sample from N(u,c%),if T :%(A X, + X, + X;) is said to be an

unbiased estimate of g then the value of 4 must be equal to

@ 0 1
(D) 3

€ 2
(X,,X,,X;) eranug N(u,0%) aap Quobleol ureudadmbs TRESLIULL wrHfl sam,
T:%(AX1+X2+X3) ey e gm SppEAupp SBUSE s sibered 4 GEOY

Wemeu(mid wluysafler ergm @ swwTs @) HasGauamT(Hn?
A 0 B) 1
© 2 (D) 3

FASTS 30 -



74.

76.

If the test statistic value falls in W, then we

\M Accept H, (B) Reject H,
(C)  Accept or reject H, (D) Accept and reject H
Gongean saflar vy W LES0d Gobsmd, pib 5
@) Hyeougpuss B) H,enu wpiisé
(C) H,eow ghaeybd (=) OGS (D) Hgyeow ehmy omssen
Critical value depends upon
W Alternative hypothesis and level of significance
(B)  Alternative hypothesis and null hypothesis
(C)  Null hypothesis and level of significance
(D)  Level of significance alone
Sreyssl L wHlurarg —————mw sMibSHEGLD.
(A)  wrpm erHCarer LHMID WlanESSENEOLD LOLL LD
B) wrhm erGCaTeT WHMLD @Genw erHGaTET
(C) éamu_: arHCameT LHmD W &SHSEenLD L L LD
(D)  Wesssemed LD
The —— is always fixed in advance before collecting the sample information.

(A)  Alternative hypothesis

P

\J#¥ Level of significance

(C)  Region of rejeetion

(D)  Null hypothesis

smmsefad i) sseuset Caafluugneg wparGu —————ew Blaafinss Caudm[w.
(A)  wroy B Camar

(B)  lmsgpemeo b

©)  wpiylLues

D) @ a@Csmd

31
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What size of sample is required to estimate the mean if permissible error is within 5, S.d is
40 with a 95% confidence?

@A) =240 " B =246

(C) =250 (D) =260

-1
=]

symeflow sanssHio Curg, s@iwdssiiul L Wy 5-&@ 2 daramaayb, S elwésn 40 Seayb.
95% mbllémas Qa(peilen CLTg) s eTa ereea?

(A) =240 (B) =246
(C) =250 (D) =260
78. Name the hypothesis in the following statement “There is no difference between new process

and standard process”.

(A)  Alternative

(B)  Either Alternative or Null
(C)  Null and Alternative

27 Null

Epsean_ eurgssdgidrer ar(HCaraflenar samis.

“Udw apapné&@ b grwnar WansELD 6Ths @ Caumur®ib Qdeme”
(A) oy

(B)  wrpmy (=) @etnw

(C) @amw wHMYL wrH

D)  @ew

79. When producer’s risk is referred?
(A) P (Accept a lot when it is bad)
(B) P (Accept a lot when it is good)
(C) P (Reject a lot when it is bad)
W P (Reject a lot when it is good)

eruGungl e pugdurerflen G um’igenen eleufés (piguyn?
(A) P (s70pm Qsrelideren gpy)
B) P (srdsns GsrEliGaman gny)
©) P (sropp Agrelibemen wpiy)
D) P(enfeps Osneindmen wpiy)
FASTS 32 -



80.

81.

In sampling with probability proportional to size, the units are selected with probability in

proportion to

W the size of the unit
(B) the size of the sample
(C)  the size of the population

(D)  mean

aCaun() §i5 Hapssa Qarar m0p 55680 svEsma CaihesHés 68s Hapssa e -

A seesaflen oaTey
(B)  samdlen ojerey
(C)  apuperio Asr@Hulen Serey

(D)  sgnad

What is systematic sampling?
(A)  Selection of n continuous units
y Selection of n units situated at equal distances
(C)  Selection of n largest units
(D)  Selection of n middle units
(i il wpenp eremmed eremen?
(A)  n Qsr_i gereneusdr CaiTHolsHHS60)
(B)  swwrar GarQauaflifie) m&EEL n Sjaremeusmen CairhblsH&ES0
(C) n Quilw serencusear CoTHASH EHW

D) @eLuul L n seareasmer CHTHOsHSSM

33
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L

82.

83.

Each contrast among K treatments has how many degrees of freedom?

A  (K-1) W One

© K D) (K-2)
K Cenganar QUi seflan gei@eur(s (prgaib asman &1 g amenn samisemar Qanaiy.(h6E0?
@ (K-1) (B) geom

Cy K (D) (K-2)

Match the following :
(a) Contrast L. Ycd. =0

Factorial effect total

(b) Orthogonal contrast 2.

r 2%t
(¢) Interaction AB 3. %(a -1 b-1)
(d) Factorial effect 4. 2.c, =0
(a) (b) - (o) (d)
(A 4 3 2 1
B 1 4 3 2
4 1 3 9
D) 4 1 2 3
Qevreu(meuaneuhenn QLTSS -
(@) qpyein 1. Sed =0
Qrgs et :
) CoiedichpHunsd 2. T B
r e
(¢) oL enelleneray AB 3. %(a—l) (b-1)
(d) aryef Siper 4, 2¢; =0

(a) (b) () (d)

A) 4 3 2 1
B) 1 4 3 2
(C) 4 1 3 2
D) 4 1 2 3

FASTS 34



84.

85.

86.

The equation Y =& ﬁx represents

(A)  Compertz curve

W Exponential curve

(C) Logarithmic curve
(D)  Logistic curve

Y =a p¥ aab swamun® @ouug
(A) Caesmb@url euenaray

(B) <0550 eumaray

(C) wLG&®s umeTay

D) sse cumeray

Centered moving average is the term refers to the calculation of yearly moving
average.

@ 3 U

© 5 D) 7

‘wHSw B syTeM’ arem eurddlb ———————— aBL paHLD Fyrsfl saflly papaw GHlEED.
A 3 B) 4

© 5 ' _‘ D) 7

Simple average method is used to calculate
(A) trend values

(B)  cyclic variations

¥ scasonal indices

(D) least square estimate

araflw eprefl wpepp ————————  sreRTUSHE LweL (S5 ILHE DS

(A)  Guré wdii

(B)  swpe wrmur®ser .
(C)  umeusma wrmLT{HESET

(D) Beflgeurss wduliyg -

35 FASTS
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87.

88.

89.

Least square estimates of parameter of a trend line
(A) have minimum variance

(B) are unbiased

(C) can exactly be obtained

W all the above

@ Cunsdlan Bsdpeurss wfliQsaflar LamuaTmeaiwTag)
(A)  GonHE WIHUTHenL WS

®)  Gppsdupps

(C) gvallw wiliye wig

(D) Cuopsar. maiggib

A mined model of a time series with components 7,,S,,C, and R, is
(A) Y, =T, xC, xS, xR,
B) Y, =T7,-S,+C, xR,

&~ Y,=T.C,+SR

D) Y,=T,/S,-C,+R,)

e srwgst i aflosden ugdser 7,,S,C, wppib R, aafle sigen seama wrglfl eramig)
(A Y.=TxCx8xR,

B) Y =T,-S+C, xR,

(C) Y,=T,C,+SR,

D Y, =T,KS,-C,+R)

When a time series is found to be increasing or decreasing by equal absolute amounts, we

use
W Straight line trend

(B) Logarithmic straight line
(C) Parabola
(D) Exponential curve

@m sresgrii eflewe @AUEGLL gellurer ety FsfssCGor @ng @GopwGar
Aewywbumipg Hrb ————— U vwatu (g Gaur.

(A)  CprCam_(H Cunss

(B)  wLsms CriCan®

(C)  upeuaerwid

D) 20565 @I cewere

FASTS 36 >



90. = Method of semi averages is one of the methods of measuring
\M Secular trend
(B) Irregular variations
(C)  Cyeclic variations

(D) Seasonal variations

u@Gd srrafl wpem eTerm (pem GTHS THUTL L. ereil 2 ga dlng)
A)  ferere Cuss

B) @ursHn wTOUTEHSET

C)  spnd brmurhser

D)  umaste wrUTHESET

91. For the given 5 values 15, 25, 20, 35, 45 the three year moving averages are
(A) 20, 27, 33
(B) 20, 26, 34

©) 21,26,33

2 20 26,33 | ¢

N , 26,
Qar@ésuul_Herer 5 wHuyseflen 3 eum par syrefl wrg 15, 25, 20, 35, 45
A) 20,27, 3.3 A
(B) 20, 26, 34
©) 21,26,33

(D) 20, 26, 33

= ' 37 FASTS
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92. Kelly’s fixed weight method satisfies

W Circular test

(B) Factor reversal test

(C) Time reversal test

(D)  Unit test

Qseeflufen GG L erenL euans ———— anw HHLUALHSGID.
(A)  awpné Cengene |

(B)  smyenfl rHm Corgenaen

(C) srew wrhmy Cangamar

D) @ Conganen

93. Kelly emphasised on the use of weights for price index number belonging to
(A)  Quantities of base year
(B)  Quantities of given year
(C) Combined quantities of base and given years
W Any logicall& ascertained quantities
Qa%ebeﬁ] eflened @DHIUSL(H erarentled LWETLIHSHILIL L GrmL_Lu{TGufgj — 5E WsAuSgeuDd
EMHSS.
(A SiguueL syewigan | GTa ST
(B) Qar@asiul L o6y 6 SjeTeser
(C) siguueL wHyb Cesr@ésslIul L spar@hsaier sareyser Garliy

(D)  gCsaub Humuwns elemfsg aPbs arese
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94.

95.

96.

The formulae for computing cost of living index number is

\9( R0, 100
L9,
5
@ = jq“ %100
E11‘?1

B) Zha 100
EP,q.»_,
v

@) =% 100
L1hqy

aumpama g7 GO QL e eneumb gGagub @ GSHTD aimndens sansfuu®BEpg)

IPq, .

£ AN 10NN

(V39 — X 1LUU
Zhq,

(©) 2R 09
LPq,

(B) Zha 400 .
2R q,

v
“ieh %100
P4,

D)

The first and foremost step in the construction of index number is

(A)
W Purpose of index number

Choice of base period

GO QLamsar e ILgd (pSTPSD Ly

(B) Choice of weights

(D) Selection of commodities
D GLD.
(B) een_gCsiray

(D) Qummseien Coiray

are statistical devices designed to measure the relative change with respect to

(A)  suguueL e HCsTey
©€) ENS_Oansafler Gdlser
time.

Demand analysis

\GB( Index number

Time series

(D)  Vital statistics

gans@aray QsTiiyemLw wiflemes Garam. QsrEduie sTRsHEGSETUD gHu@b

HDEIGET SeTHE SBlLLHETUED s(Hed

(A)  Cseeuemi TG

B) @S AL amraer
(C) srewsrt Qg euflens
D) Gl @puy eQurmsar

39

B GELD.
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7. Numerical data presented in descriptive form are called
(A) . Classified presentation
(B) Tabular presentation
(C)  Graphical presentation

W Textual presentation
eramefleunmisaried HafléEsuul L ellarésoner aigeusdn@ Quwi
4)  amsuuBssisons QeT@Hsse0
B)  ellLaeariu@sgsans QarHsse
(C)  aueguLmsaTs QsTHsse0

(D)  ecarpaLwrs QarHssd

98.  Statatistical results are
(A)  Cent per cent correct
W Not absolutely correct
(C)  Always incorrect
(D)  Misleading

yearefludwellen (pye|seTTang

A)  mibmseE mim FselsD #flwimnerg)
B) gnsgenw sflwarng

(C) . e@Qumpgid seupnang

(D)  seupreamena

99 In a distribution, ogives are graphical representation of
(A) Frequency
(B)  Relative frequency

"\ Cumulative frequency
(D) Raw data

(1 LITeusdle) Qenael eTaLiens auanTLILepald GsfluliuBsseus)
(A) sabcusr

(B) Qsriy sieme@euar

(C) Beley emaGaeir

(D) saflss yarafleleupriser
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100.

101.

102.

All values in a sample are same. Then their variance is

M Zero

B +1
(©) =1
(D) Not calculated -

@ sCpssegierer eraam wHILsERb §wwrs G(HLIGe, S wrHlulmermg

@) ugeuo
B +1
© -1

D) sawmsdlpqunsg

If the standard deviation of a distribution is 15, the quartile deviation of the distribution is
(A) 15.0
B) 125

&~ 100

(D) 135

@@ uneuadled FiL eflessnmeag) 15-%5 OV H&EWTENTE 2 UUFeuellar Sramer eile&snmeang)

A 150

(B) 125
(C) 100
(D) 135

Out of all measures of dispersion, the easiest one to calculate is

(A) Standard deviation

wr Range

(C)  Variance

(D)  Quartile deviation

RLOEwIHs e aremausafler arbsbeuna Sgped sarame Wls aeflawwns sensd_LHEDpg)
A) Al essd

B) d&iss

C)  wmyur@

(D)  smwrent eflewésd
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103. It is necessary to find cumulative frequencies for drawing
(A) Histogram
(B)  Frequency polygon

W Ogive

(D) Line chart

Thg ULESDEE Geiley Smabeiar sar® iy iug Vs SulwwmEd
(A) GeeuausluLLb

B) et LOCHTTD

(C) oqomse

(D)  Gar® euepyuLLd

104. With the help of histogram we can prepare
(A)  Frequency polygon
(B)  Frequency curve

(C)  Frequency distribution
W All the above

QecueusliuLgden 2 gailudlanmed Brb ereng SWNflEsEaND/ 2 (heursaead
A) smaoeus ud)(ﬁaarrmr&é.si‘r |

B) smobaer aumaCa()

(©C) simweCeie LiFeue

(D) Cule saplul e ereveumd

105. Data can be well displayed or presented by way of
(A) Stem and leaf display
(B)  Cross classification

(C)  Two or more dimensional table

\M All the above

yereflelleuriisaar fimps apanude sm_Heug Siwag Gsfleliugbsrer auflumems)
A) Qoe wppid ;@umu

B)  Ené6E umsLLRSSED

(C) Quan(® sieveg) LOCaream oL euemnamr

(D) GwCe sapliLl_Lemeu@weamrid
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106. The height of persons in a country is a random variable of the type
W Continuous r.v
(B)  Discrete r.v
(C)  Neither discrete nor continuous r.v

(D) Continuous as well as discrete r.v

Q@ Brligen puUrsatarn e wpmisafler soeumiiliy] wrdluler euemswneaig)
(A)  Qarréfluimen #oeumiiliy Lnrrgf))

(B) QsrréSlwmm sweumiiy wrmb

(C) Qariiédlwnen soeamiiy wrhluyb o wHm, QAFTidSlwpm sweumily wrdluyb

Geenay

(D) GQsm_iddwnen sweumiiiy wrdl wHmyb AgrereSlwpp sweumiiy wr

107. Why are the events of a coin toss mutually exculsive?
(A)  The outcome of any toss is not affected by the outcomes of those preceding it
\Q” Both a head and a tail cannot turn up on any one toss
(C)  The probability of gelting a head and the probability of getting a tail are the same

(D)  (A) and (B) but not (C)
@ BrewTHems aer(Hd QUTg gpUBD Blapaslser @G’MG&)Q ganm elevéE Hlapsfaans @muug
eren?

A  gGsr em wep s@Gb Qurs gpucl deeflurirag  gpsaGar  gHUL

Qevaflum’igarmed urdlludldame
B) om won sarh CQurws, soewd LOHND L__{,s\.ubh Carammeudoame (Sicag)
' Camarmipig Mg
©) smedananar flapssal, U élweugharar HaDssea|b Fow

D) (A wombd (B) germa (C) @dene
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108. If 7:6 is in favour of A to survive 5 years more and 5:3 in favour of B to survive 5 years

more, the probability that at least one of them will survive for 5 years more is
(A) 35/104 (B) 12/26

© 21/26 G 43/52

A aranueuit 5 eumLs80@Cwe aurpaugne srsswrear eldsn 7:6 B erémuauir 5 L& nECw0a
eunpeugn@ sngawnar alldlgn 5:3 eafled, Qeutseafler @man Gonbs LLad 5 a@LiHnECod

aumpeugnarer Hlapsseunarg
(A)  35/104 (B) 12/26
(C) 21/26 (D) 43/52

109.  Given that P(A) =1/3, P(B) =1/4, P(A/ B) = 1/6, the probability P(B/A) is equal to
(A) 1/16 (B) 15/24

(C) 15/16 W 5/16

Qar@ssuu L P(A) =1/3, P(B) =1/4, (Al B) =1/6, aaflé Aspsse; P(B/ A) &, FLOLOTES)
) 116 B) 15/24

(C) 15/16 ' \ (D) 516

110. From a pack of 52 cards, two cards are drawn at random. The probability that one is an ace

and the other is a king is

(A)  2/13 (B) 1/169

©)  16/169 7 8/663

52 8 (DsaT 2 arer £ sy S(BHg 2 £ Hemer swamuLy wpapudd erdéeh QU m(p&l, 2AHD ey
<,8] LH@Drenm prETaTs EMHLUSHETE HEDssaITanS)

A) 213 (B) 1/169

(C) 16/169 (D) 8/663
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111. The mean deviation of the normal distribution is 16. The quartile deviation is

W 403 (B) 20/3

() 100/3 (D) 50/3

QuaBlener wyeudlenr grrafl eflosssden wHIY 16 aafld s@eoLw srowra 6ladssdlen
wHlbenen oiHls. '

(A)  40/3 (B) 20/3

(C)  100/3 (D) 5013

112 (X-10)*
' 5 S ] 1 o
Determine the parameter of the normal distribution y(x) = e M —w<x<w

127

(A) (10, 6)
B (10, 36)
(C) (6, 10)
(D) (36, 10)
Qeveu(mid @wevbleney Lireueilen LerTUaTellener sewr(Hdlig.
(X-10)*
= 72
y(x)———’rge —W<X<w
(A (10, 6)
(B) (10, 36)
©€) (6,10
(D) (36, 10)

If X and Y ‘are independence random variable with x ~ B(5,1/2) and y~ B (7,1/2)
thenP(X +Y =1) is

(A) 5x %12 ®) 7x %12
\M 12 x %12 D) 35x %12

X whmb Y eaug sriupn monoy word eers. Gugid x ~ B(5,1/2) y~ B(7,1/2) eaafld
P(X +Y =1) erérugy G LD.

@ 5x ®) 7%
© 12x o 85x

- 45 FASTS
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114. A man rolls a jain die again and again until he obtain a 5 or 6. Calculate the probability that

he will require 5 through

@ (56 (56

POT @ usmL®WL 2 GLELCurg SamLseb 5 (@) 6 g Qapflurs smadprit aeafld, e
gbsreugl e 2B Cutg dbapdeawu Qupeshster fespsse wrs)?

o B o (¢
o B o ()

115.  If a statistic ¢ follows student —¢ distribution with 'n' degrees of freedom then ¢2 follows

distribution with ——— degrees of freedom.
(A)  Chisquare with (1,n) d.f.
(B) Fishers t(n,1) d.f.

" Snedecar F with (1,n) d.f.

(D) Snedecars F with ["’—‘; -’32—] df.

R L T@ID SaQ) LRTUATDQIWITETS GVRHLET. — ¢ eTayLd LFeueme, &L 1 siianin erawaflsana 'n' o e

Qe Qsmibared 1 erenug ureud HmID ; - &L1q GTEHLD
sraanfléEansudlenen Clgm (mib.

(A) esauiés ureuad (1,n)

(B)  J9agi t(n,1)

(C) ’GfU@ﬂ';Lq_&I:I'F (1,n)

M T K ﬁﬁ
D)  w@pysr F (2, 2)
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116. In MLE, which of the following is wrong
W MLE's are always unbiased
(B) MLKE's are always consistent
(C) MLE'’s are sufficient
(D) MLE’s are efficient

BUQup Blapsss wHuS e Qunmsso g6 eglabasszim_msuaaefﬂei) FCHID (M (Plg 6 HeumTens)
(A) LﬂuGU@ Qe;tt.pg;asaa mra‘ﬂuﬁ@ tfﬂ;ng_n&é]mmmgj

(C) Lﬁu@u@ (nfla;gpg,a;ai a6 Curgiores
D) BuCum fspsss mguﬁ@ Soayenwig

117.

If X is a sample of size one from f(x;0)= : <@, then the 100(1 —a)%.

Confidence interval for @ is

(A) Pi<€<—£~ =1-a, where
i

A Uy

Il

2:V4-22 _2:42a
2

2 _ /
(B) P{i<94i}=l—a, where u, SEVA 28 . —BENAR

i, i,

(©) P P =1-a, where u, =
Uy Uy

2+4-2a i _2+4/2a
2 R R

2+44-2 £ 42
y P{iﬁgﬂi}-——l—a, where Lt-1=——-—-4—-—g-,u,2 :2Ta

78 U,

X  cawg conamlsons qam e @ wrdfls @abdlar  flepsse; oLTsH ey
f(x:8) = -52—(9 -x),0<x <0 eraflér 6 ar 100(1 — @)% poGsans @ml_@mgﬂurrm@j

. 9
(A) P{£<9<f}=1—anmmmzh= 2+ 44 - ﬁ3=2¢$5‘
7 Uy 9 3
9 — o =
(B) Pi{ﬁ{i :1—615,\,‘vhereulz"’ir 4 Za’ug___..-iv_a
U;z ; u’l 2 2
9 % ¢
(© P igégilzl_a, whiie b, _z2t 4 2a’u2:2iv2af
u ugf 2 >
T % =
(D) P i i =1-a, where u, = u’ug =-ci-\1'...a'
Uy 5 —
) 3 o FASTS
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118.  Which one of the following is an unbiased estimator for population variance o> ?

E_l n .__—2 2:in .2
(A s —n;(xi X) B) s n;x, |

W 5=l ® =134

-1

eieupLeuamdBled gadlen wrmum g harer AppeSwpp HSH org?

@ =13 -0 (B} o=
nf:l nf=1

R < P 3. 1% s

. = ;(xi x) D) s n—1§x'

119.  If X be a random sample of size one from N (0, 6*), then the sufficient statistic for o is

A T=X

® T=Y%
t=1

W T-x (D) T:ixf
i=1

X ererug N (0, *) Quidflener Lipeuadlen wmdfé s araflé o e Gungner WHUSL L Tang

@& T=|x] B T=)ZX
: 1=1
€y T=Xx* (D) T:i){f

120. Crammer — Rao inequality is based on the following conditions

W Stringent conditions
(B)  Mild conditions
(C)  No conditions
(D)  One condition

&y - greu swaiad Gereumd Spasamm _@u'r_'r;g;smmaﬁsnerr Qs e Hererg
(A)  sgenonen flubsamarsaner

(B)  smgmyenw flupseransanan

(C)  gQsr@m Aussmasamenid Qarerareidrenc

D) gCr a6 Bupsmen wi_ G
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121.

122.

123.

If x,,x,,...x, be a random sample from N (1,0°) (where o is known), then the sample mean
of X is
W unbiased and consistant estimator
(B)  unbiased and sufficient estimator
(C) unbiased and efficient estimétor

(D)  only unbiased estimator

Xy, Xy,...%, Gam rdils sm N(,u,crz) Quableow ureudldimEhg a@EsULLL s erafld
(¢ Qadlps HNevaude), saflen synsf X <pems

@) Appédubp whpb AuTsss®LL LAS TED

(B)  Yopsdupp womb Curgorer HUISH @0

©  Gpgidlupp whpid Apgiew wALSL e

D)  Ypp&dunng L HLb DpED

Which one of the following is the consistant estimator for the parameter of Cauchy
distribution?

(A) Sample mean

\V Sample median

(C) Sample mode.

(D) Sample variance

Aereu(mueuaaunpler, sradl ugeualen AT Lraflern @5 Curdp wdHiSL reng
(A)  sadlen gyna -

(B)  salén GenBlene

©)  adlan ppa®

(D)  sallen Lnrrguum'_;_mmsu

If T' is an unbiased estimator for &, then T? ijs ——— estimator for 8.
(A) Consistant (B) Efficient
(C)  Unbiased W Biased
T erenug) 0 efen BenGumés erdiumitiy Sl @ ereveu eraflér 6% 61— S
A)  @s50CuTdp (B) Smamar
©) Qpp&funo (D) YGppsdluyew
49 FASTS
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124.  Which hypothesis decides single tailed or two — tailed test?

W Alternative

(B)  Both alternative and null
(C)  Either alternative or null

(D)  Null

@Rupenan Gangemanun (1) Gmpeven Gengemanur eran Eiorefla@n er(HCarar 6rg)?
(A)  wrpm

(B) WTHm WHILD Geuw

(C) im0 @

D)  @emw

125.  Which hypothesis specifies the population completely?

(A)  Alternative (B) Composite

(C) Sample . \J¥” Simple
aamwsdsredullamar apipeaigiors efleuéa@n er( Caraflar Quw ereen?
(A)  wrdm B) &LO

(C) &m (D) sngryemswone

126. The degrees of freedom for a 4x4 contingency table of independence of attributes is -

(A) 12 , B) 6
& 9 ®) 7
snumm uaryseflar 4x 4 Gevarriy UL igwiller sl igarens Tarraniléans ————— @LD.
A) 12 (B) 6
@) 9 : D) 7

127. In chi-square test, the expected frequency of any cell or item should not be less than
A 10 B) 14

N 5 (D) 6

asaiss Gersemania, geaQeaumm Qeddlar adliuriuy S@obaudmssr ————eaw il

GODeUTE QHSSH Gal _MF).
A 10 (B) 14
€ 5 (D) 6
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128. For a Latin square of order P, atmost how many orthogonal latin squares can be there?

@ P | G (P-1)

C€) (P-2) (D) P*

P auflenswjarer egSen sgirmsamen Qanan(® erggamen Coi eTdlit cgHan &&7miseT G)hEsHamD?
@A P B) (P-1)
© (P-2) _ (D) P*

"129.  Local control is a device to maintain
(A) homogeneity among blocks
\SBV homogeneity within blocks
(C)  homogeneity among replications

(D)  homogeneity among treatments
Blapeils s Hur® erenm smell Hlireudlliug

A) GsredaEnsE QoL Gu @& L sar
(B)  Qsnedsens@en &8 L s

(C)  om 2 (HEUTESEHEGET PSS LIGTL|&ET

(D) Ceongamar QUMHLSEHEHEET (5 LIGRTLSET

130. If the sample values are 1, 3, 5, 7, 9, what is the standard error of sample mean?

VD ® 1z
© 2 @) Y

‘(m salen UL 1, 3, 5, 7, 9 erafled gyrafl sadlean S Uenyp eremen?

Y@ A2 B) 1/V2

© 2 | ® Y
131. The population mean is 8 ————  value.
W fixed - (B) highest
(C) least (D) varying
@ pepenns Qsr@Hulen graf eremiig ————————— wdluy.
(A)  Heveowran (B) =dswrar
(C) @eopeuran (D)  wrmur@eérer
- : 51 FASTS
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132.  The most important factor in determining the size of a sample is
W heterogeneity of population
(B)  purpose of the survey
(C)  the availability of resources

(D)  the availability of time

@ sblen ojeTeney e Hleugnarer W&eayb @oéﬂmmnm Sryesf]
(A)  @p uaLbp Wos dsTES

B)  ser@eu@uibpsrar Crrésid

(C)  engamisaflar @muy

D) Cpr@muy

133. A function of variates for estimating a parameter is called

(A) an estimate

\@f an estimator

(C) aframe
(D)  a statistic

@ UeTuaTeeuamw sarLHlaugnaner nluller srruser Geiaumm Smpsslu®dns
@) @@wHuSE

B)  @m wduS () erameu

©  emaged

(D)  &am uaTLeTEE

134. The errors emerging out of faulty planning of surveys are categorised as

(A)  Absolute error
W Non sampling error

(C) Non response error

(D)  Sampling error

GepurBaeEnL e serdau®és HLBEL Curg gpuBb Sapaer cumst LB SSarme =g
(A)  saflurear Geny

(B)  wrdlflapann sy Genip

(C)  udldllanew Genyp

(D)  wrdd wep &S Wanip
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135. Latin square design is an
(A) 1incomplete 2 way layout

W incomplete 3 way layout
(C)  complete 2 way layout
(D) complete 3 way layout

@gSer e5175H L Sl areLig)
Q) pyooupp Gl Sl
B)  pyavwupp 3 e b
©  @gemoune G aud AL
D)  aperwwrer 3 aufl Sl ib

136. Which of the following is a less efficient design?
W Completely Randomized Design
(B) Factorial Design
(C) Latin Square Design
(D) Randomized Block Design

Gemaumeuaneupde & GanHES SHmer 2 atar FL iUy 675|?
A)  apupenowns gGasmawITaEs UL LD

(B) asmrenflaamer smihs Sl Sjepoliy

(C) wsSen sgy SIL el

(D) gCgsmsurssuulL sLHS S L1b

137. Which of the following is not a basiec principle of design of experiments?

(A) Randomisation

\M Realisation

(C)  Replieation
(D) Local Control

Geraumeuaraupdar erg Camgenar L siamwiiben Sig ULl §58IaID G)aome?
(A)  sfleweumiliy gpap

B) Gesaflur®

(©C) vme(Beunssb

D) Fapal s s _uun®

L 53 FASTS
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138. Moving average method of fitting trend is not suitable for
(A) ‘ finding trend values
U projections
(C) both (A) and (B)

(D)  neither (A) nor (B)

B&(HLD ggrerl wpenpuiler Curédlenar samsdl HauQgeanug &(8 LIWGTLIL Tg).
(A)  Gursdler bUysmer sraTUSDHES,

(B)  afiarewsdlen wiiysmer sramLSDHE

© Q) opgod (B)

D) (&) iy (B) @renBi @aema

139.  An additive model of time series with the components 7',S,C and I is
A Y=T+S+CxI
B) Y=T+S8+CII

NPT Y-T+S+C+]I

M) Y=T+SxC+I

) 5rra3§,6.1§,m_|‘r auflevgllen ugdsear T, S,C oHHID I arefléd Digan sl B LS eranLig
A) Y=T+S+CxlI

B Y=T4+8+C/I

C Y=T+8+C+1

D) Y=T+8SxC+I
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140. The mathematical equation of the exponential curve is

(A)  Y=(ab)* B) Y=aX"

W Y=ab® D) Y=d*

(5 2AHEGSEGN cuanerelen sanflss sweamur_rang

(A) Y =(ab)¥ B) Y=aX°
(©) Y=ab" D)y Y=o
141. Lockups and strike in a factory affecting the production represent —————— component of a

time series.

(A) Trend | (B) Seasonal
W Irregular : (D) Cyclical
@ GasmPpemeaiear a1y wpmd Cemablndsd isea 2 Husdlamu undédng erenLig)
&g Qgri euflansullen ——  uGHwumEL.
A)  Ber_sreou Curss (B) umeusre
©) eursHin (D) &wpe
142. Link relative means the ratio of a value to its ————— value.

(A)  Succeeding value

W Preceeding value

(C)  Corresponding value

(D)  Constant value

Qevartiyg snm9 eTenLg p(h TR D@D D6 N &G @en G o drer aSlflssHmss
GOILBTELD.

A)  Gpesu gy

B)  wppesw vy

(€C)  @ewemrwner oy

(D)  wrhled wiy

g 55 FASTS
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143.  An appropriate method for working out consumer price index is
(A) Weighted aggregate expenditure method

\ﬁf Family budget method
(C)  Price relative method
(D) Link relative method
HsTCeur ellene GHIIG sersd® aflure wpann ——— Sy @Lb.
(A)  Flevaud L Cairiy Qeewelar wpem
B)  BOLU e Cenay L samsdaBUy wenn
© e @UiSE apeop |

(D) &Sl @UISH wpenm

144. Cost of living index is also known as
(A)  Price index
(B) Quantity index
\M’ Consumer price index
(D)  Value index
QUTPES BTGP G —————— eTar e aslL @b,
(A)  eflewew @MHuI G
B)  sjemey @M QLT
C) msiGeun efenew G QLekor

(D)  wduy EHSCOL e
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145.

146.

Irving fisher’s price index formula is tllle

(A)  Arithmetic mean of Laspeyre’s and Paasche’s };rice index formula

(B)  Arithmetic mean of Laspeyre’s and Dorbish-Bowley price index formula
M Geometric mean of Laspeyre’s and Paasche’s price index formula

(D)  Geometric mean of Laspeyre’s and Dorbish-Bowley price index formula

@naﬁ]m Qagfler allene GHUTLH @&SHTD —————— .

(A) GU[TE-'DISIU_II"T‘ wHMID urevsedler elemea@GMuiL () @GsHrmaaiiar sl B symef

(B)  emeuSwr oHOID LrmSlely — uejedlear elena@GMuil [ @sdrmsaiier sl H& symea)
(C)  emevQuwi mﬁ)g)jmunduéamﬂ-sh clenew@MuiL® Gsdrasafler Qumae srmaf

(D)  eomavGwit wmmd Lmibey — Leyeder ellene@muit (B @GoHrmisalien GumaE symadl

The weights used in Paasche’s formula belong to

(A) DBase year

W Given year

(C)  to any arbitrary chosen period

(D)  Ave. —of the weights of a number of years

umeN&E GsErsde LweauBSSUILHD eren. ————— anwl CaTHEG).
(A) . nqliuemL au@mLLD

(B) Qar@aésiul L aimlib

(C) gCsayb Comp@zH&sULLL au(FLLD

D) Ao @EALECL eumpLiiseailen crent_ullen syme
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147. In construction of index number ———— gives greater accuracy and precision.

(A)  Arithmetic mean

\V Geometric mean

(&) Harmonic mean

(D) Median

GO GLarr @@wiugld —————— 2idls B uap sflurseybd B)mEEL0D.
A) sl { syrad |

B)  GQumsse syraf

(C)  Qevs syns

(D) Qe flaw

148. - ————— index number are used in decision making.

(C)  Unweighted

(D) Weighted

GASL QL ar Sirioran opig Qeu(iés LwaLEs0LHEDS.
@) aivep
B s
©  Peopdng

D) Heopuilii
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149.

150.

Mode 1s

(A)  Least frequent value
W Most frequent value

(C)  Middle frequent value

(D)  None of these

W&( eTeLg)

(A) @o@neurer smeGeue L
(B) @idlawrear semabeuar wiy
C)  eww SmeQeuda LU

D) egaddema '

The following marks were obtained by the students in a test
81 72 90 90 86 85 92 70 71 83 89 95 85 79 62
The range of the marks is

A 9 ' ®B) 17

©) 27 W7 33

@ GCaraile wrarreursear Qupm wHUGumTsear EG CarHsslu(Hearerean
81 72 90 90 86 85 92 70 71 83 89 95 85 79 62

Glgefen eiFdlern diumeng)
A 9 - B) 17
© 27 (D) 33

Statistics facilitates
(A)  Organising data
(B)  Collecting data
(C) Disposal of data

\V Comparing data
yerefluSlwedlenr 2 gail .
(A)  eflougmisemar piGLRSSISHE
(B) e&lleugmusener Caaflliugsna
(C)  efleugmsanar (pigey Qelicusns
(D) efeunmsamar @l Heusns
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152. Weighted mean results in higher value than the simple mean if
(A)  Equal weights are given to all the items
W Smaller weigflts are given to smaller items and higher weights to higher items
(C)  Smaller weights are given to larger items out higher weights to larger items
(D)  Both (A) and (C)

Blenmaerreflureng sl Hésyraflaweai odls iy wgramd

(A)  swwrer Hlanm erévevm Quim(HL HEpdEL0

(B)  @opeaurar Qurm seréE @opeutar Hlopyb, fsorea QUImLsEpEE oidsorer
Blenmuyid

(C)  =flswrar QUIBLSEHES Gopeura Hapuyb, sdswrer QUILsEpEE Hsnrer
Heppujid

D) A) wpmib (C) Qrem@o

153.  If the coefficient of determination for two series of numbers is exactly one, then the slope of
the line is |

(A)  Positive
(B) Negative
(C) Zero

V#7 Positive or Negative
Qe Ggrrsaflar Sroraflsatul L Qewwelar sflwne geam eeafld oigaien smiia,

A) Cpllen
= (B) edflen
(C)  uymBubd

(D)  GCrllenL sjveg ardlflen

154. A frequency polygon is constructed by plotting frequency of the class interval and the
(A)  Upper limit of the class
(B) Lower limit of the class
W Mid-value of the class
(D)  Any value of the class

Siama@euar LOGETETRSMET SL_LabUUSHES euGLY B Qeuaiier oiema@eid wimib
(A)  euEl9er Gue eravane
(B) el i erevena

(C)  auLder awuliugd

D) Ll aps@eunm wELD
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156.

157.

If the estimated value of an item 1s 50 and its actual value 1s 60, the relative error is

(A) -20

(B) 0.16

@ 12 )
\W 0.20

@m e muug e Camruwdluy 50 whpb iseafler 2 arenw wHUL 60 s QupsELonarnme igaflar
UL G Yepwrarg)

(A -20
B) 0.16
€ 1.2

(D) 0.20

' If A and B are any two mutually exclusive events, the P(A/ AU B) is equal to

W~ P(A/[P(A) + P(B)]
" (B) P(AUB)/[P(A)+P(B)]

(C) P(B)/P(AuB)
(D) P(B)/P(AnB)

A wpmd B erenug gCsr @Qrawm® patem am eflewnds ‘r_ﬂasl;;méélaamrra;‘@@mugn@, S{Get
P(A/ Au B) &g awwnarg

(A)  P(A)/[P(A)+ P(B)]

(B) P(AUB)/[P(A)+ P(B)]

(C) P(B)/P(AuB)

(D) P(B)/P(AnB)

If Ac B, the probability, P(A/B) is equal to
(A) Zero
(B) One

N P(A)/ P(B)

D)  P(B)/P(A)

A aow e arensdlu B ops @mluste, Hlapssal P(A/B) &g swwreng
A)  yifuo

(B) g

(C) P(A)/ P(B)

(D)  P(B)/P(A)
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158. Thé simple probability of an occurence of an event is called the
(A) Bayesian probability
(B)  Joint probability
W Marginal probability

(D)  Conditional probability

PO Blapsd fapaghsna eraflu Hapsse) erar siampssiL(eg)
A)  Quuledlwen Bspssey

®B)  Qoar fapssay

(C)  efefiby Hapssa

D)  PHupsemen Blepsse,

1569. An unbiased coin is tossed four times. The probability that the number of heads exceeds the

number of tail is

A 1/12 _ (B) 3/4

(C) 3/8 - W 5/16

@ Erner pramusams 4 apep saBb Cung, y-aldr eraraflsmamu ol smaudar aaraisms

Bld pGeuspane Rspsserans
A  1/12 (B) 3/4
(C) 3/8 . (D) 5/16

FASTS 62 -



160.

161.

162.

9 =1, - 2<y<%x0<x<1
Let

W2

©)

=0 otherwige

1
—X
2

flx,)=1, —x<y<x,0<x<l1
=0 wppmes erafley

then, the marginal density function of X is

B) 1

, 9ger X —ear efafliby ugeuerang

B) 1

D) 2y

K

If the density function of bivariates x and y isgiven as f(x,y) =3xy for 0<x <1, 0<y <1,

the mean of X is

Hho= %

Hhg=1

(A)

(©)

fle,y)=3xy, 0<x<1,0<y<1 aaug, @b wrd xwHmbd yulenr @evemr Qadley smieen

arafled, X e sal () epmaflwnans

A)  Hyy=

W Hig= %

D)  4yo=0

B #io=Y%

D) Hh=0 .

The (1,1)* central moment for the joint p.d.f. f(x,y)=3-x—y for 0<x,y <1 is

N =Y

©) Hiy = 0

flx,y)=3-x-y, 0<x,y<1 @Téiﬂg) Qe Hlapsse| Gedaey Frirueer, (L,I) eugy emiows

SmuLSmenreng)
@ =Y
©) oy, =0

B) =%2
(D) Hig = 2

B) w, =

(D)

s
2

FASTS

[Turn over

63



163.  The parameter of a binomial distribution are (6%] then P(x = 2) is

(A) 6x %G B) 5x %6
N\ 1@%6 (D) 6x%1

FF(HMILILY LITeueSl 6 LIGRTLIGTENGU&ET (6%) @dle @mpa Px = 2) e wHlamus srans.

@ Gx%s ' (B) Sx%a
1
2

(C) 15x %S (D) 6x

164. Comment the following statement.

“For a Binomial distribution the mean i1s 5 and standard de\:iation 1858,
‘(A)' Adequate
(B)  Possible

\ﬂ’ Impossible

(D) Inadequate

FmmILY ureuedlen srrefl 5, S efewsswmang 3 cramm Aamewrme Qbs Fabn) eTHSTEOWITES) ?
(A) Gur@mﬁéﬂ@ |

(B)  pLésmyug

©€)  emsuwpps

D) upprsG@D

165. Out of 800 families with 4 children each, how many families would be expected to have
atleast one boy. (Assume equal probabilities for boys and girls)

(A) 800 B 750

(C) 650 (D) 600

800 @(ibumsafle, geudeunh GHLUSSDEGD HraE GWhessd eram @) hUde, SFeu b
ST Ghosureug QMmUUSHE 2 arLrer Hlapgaelaar euamyLm. (fané@h, ouameninEn
sweumiiLerers s Qarers)

(A) 800 (B) 1750

(€) 650 (D) 600
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166. For the normal distribution, the ratio of quartile deviation, the mean deviation and standard

deviation an approximately

_\gy)/ 10:12:15

B 5:3:9
G 2:4:8
MY 1iN.19.1&
\L2) v . 1o . 1Y

QueBlencoli Lireuale sréomer efléstd, syrafl eflwsstd, S L_ellewsasd @eneusEnshamar 6ldlghn
(A) 10:12:15

B) 5:3:9

(C) 2:4:8

(D) 10:12:16

167. The range of chi-square variate is

(A) - to +o

B 0to+w

(C) Otol
(D) - to0
maauTés rHufer eiFsrang UG,

(A) —o-dQmbs + o ey
B) 0-o @Qmbg + © ey
(C) 0-&@mbs 1 euenry

D) —m-@@@‘r_ﬁ@()mmu
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168. The 99% confidence interval for 4 in Poisson distribution (when the large sample) is

@ (X£005VX7/n) ®) (¥+258VX)

© (X1.96yX/n) P (X:258/X7n)

Uriiser Ureuelé) LgtUeTees A eflén 99% pib9sme Ger Qaielumang QL s@n D
@  (X+0.05VX7n) ® (X258VX)

© (X:196yX/n) ® (X+258X7n)

169. On the basis of Cauchy distribution find the odd one
W The sample mean is consistant for u

(B) The sample mean is not consistant for u
(C) The sample mean is MLE for u

(D)  The sample mean is efficient for u

sra§l LTeuen® QUTHESLL 156, SDSMTL_MeUSERET 618 Seailsss)
A)  sdler sgreflureans oo @s5aCLTdD LHISEH

B)  smflen sgraflunang @@ @55CLTdp LHISEH Qdma
©)  smlen sgrefwunang @@ BUCQUN sréHw apenp wHISH
D) sflen syrefunang ¢m Hoamer wHISH

170. The 100(1-a)% confidence interval for 2 in P (1) is (for large sample)
N (X +z, Jﬁ] |
® (X+t,Xn)
© (X+2,4X)
®  (X1,VX)

Aen  100(1-a)% mpobsEms @ GCeuaf flapsee; ugae P(1) wdly
(QuAlwan@nHuy epude).

@ (X 2,vX/n)
(B) ( + £ )_Un,)
© (F:2,X)
®  (%:e,VX)
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K.

172.

173.

If (x,,%,,-x,) be a random sample from U(0, &), then the MLE of @ is

- -

(A) 6=2Zx; B) 6O=x

2

© d=x, P 0=xu

(%), %5, %,) eenp wrdflé sammy U0, 8) erenn ugeualaf(phig er@oaiulL g erafldr 0 eflar BLGUm

Hl&pses HUSL Ters)

(A) f=3zx B) f=%
(C) é = x(n (D) é e x(rr.)
MLE's are

W always consistant but need not be unbiased
(B) always consistant and unbiased
(C)  always sufficient and unbiased

(D) always sufficient and need not be unbiased

BUGU® Blapsss wHIEE wepunerg)

(A)  eriGurgid @asCurdp wHmib WpweAwupnmanns Qmés Cauamgw seuslwwdpp WHISTEH
PP G

B)  euCGurgIb @&sCuTdD wHmb GAppFflwubp wWHUIEEH wpean WELD

(€©)  eGungib CGungorangwrar wpmib Wppefluppgiorear LHUSH Weap <4 ED

(D) euCungb Cungwrengiwrar whmb GppsHluppaauns QHésCaamrgw Seusluwdm
LHLGE PoD GO

If x;(Vi=1to n) be a random sample from N(x, o?), then the sufficient estimator of o is

(&) T=%x, ® r-=%

x;(Vi=1to n) eetiugy N(u,0?) eremm Quahlaa uraumbg aEsLILLL sap erafle, o’ e

Gurgiwmer HUISL merg

@A) T=:x ®B) T:%

2

© .T=3 D) T:Ei‘
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174.

175.

176.

T =t(x) is sufficient for & if and only if the joint density function L of the sample values
can be expressed by

B L=[]fx: 0)=g,t) hx)
i=1l

®  L=]]/x: )= gltx)]+h)
i=l

©  L=T]fx: 0)=gultx)]-hix)

i=1

©  L=[]/; 0)=gl@]hix)

T=t(x) eremugy feflen g Cungwrar LHISH LHMD LiTEH Friy wrdfl sy erafldr zHE
Coemauwmen pmib Gurgiorer Flugmar Spaam_eubmier erg)?

@ L] 0 =gl hx)
i=1

B)  L=]]f(x:; 0)=gylt(x)]+h(x)
i=1

©  L=[]fx;0)=gltx]-hx)
i=1

O L=]]ftx; 0)=glt) - hx)

test is distribution free test.

W~ Chi-square (B) F

©) ¢ ; D) =
Cemgevar LiTeue &CLEmLITeT Camsenar <@L

A) @5 euiss ®B F

© ¢ - D) =

For testing significance of an observed sample. correlation, the degrees of freedom is

A n , B n-1

W n-2 D) n-3
s U Bpe| Aspelier, Wlansgerenn Cargenanie st igamemin eramanfl&eams ———— oy @Lb.
(A) n B) n-1

© n-2 D) n-3
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177,

178.

179.

180.

In goodness of fit, to test whether the accidents are uniformly distributed over the week, the
degrees of freedom is '

A 7 7 6

© 5 D) 4

Qurmsbs fmiy Cargemeaniad urrsdle efluggser Fowrs UFuTs 2 dagn erayb Gargamenula

Blensggemeantd L L Gl 6rewrant] &en s ——————— B,GLD.

A 7 (B) 6
© 5 : D) 4
To test the presence or absence of an attribute, we apply —— test.
(A) Chi-square B F .

(C) Mean W Proportion
@ Lamlen @Qmssebd (21) Goorawwb Cardlés, pro ———— Gangaar LweatuHHg Coumb.
(A) s eaués B F
(C)  spmad (D) efdlg
To test the single population variance we apply ————  test.
\(A/ Chi-square B) F

(C) Normal ‘ D) t
@(m appenw LgrgHuien uyaupuigamw Cardlés, Frb ———— Cargenar Lwenu(HHgCeur.
A) s aiss (B) F
©C) @uéadeamao D) t

ns” N ¥

— follows ————————— distribution.

o

W Chi-square . B) F

© t (D) Normal

ns® .

= LJeUT@LD.

U -

(A) sarss (B) F

©) t D) @ueafle
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181. What is the formula for sample variance?

@  F@-Din-1

(B) i(xi—f)fn
=

r i(xi—s_c)z.’n—l
i

(D) i(x,-—f)zfn

wrSfl wrgur’igparer @GS b ereren?

@ Y -Hin-1

B Y (-D)n
i1

n

© D(x-%)'/n-1

=1

(D) i(x,-—"x')z;’n

i=1

182.  Which one of the following is not a principle of sample survey?
(A)  Principle of Statistical Regularity
W Principle of Randomisation
(C)  Principle of Validity
(D)  Principle of Optimisation

lemeumeuaraunmiaT arg) s ieT@euHUder sEgeuD Gaamen?
(A)  yerafllblwe HlapQeirpius s556uLd

B) gCsémswinssd S50l

©)  agdyeLmw gsgD

D) deswursss gégeub
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183. In completely randomized design, what are the principles of design used?
W Randomization and Replication
(B) Randomization and Local Control
(C) Replicatioﬁ and Local Control _ ‘
(D) Randomization, Replication and Local Control

wprpewwrs gssmsurssiiul L S sdo, apbshs S ewlibear gsgeumse LWL HHs
UL eu? "
(A)  &flew eumliliy (pepmento WHMID DD 2 (HeuT&HSHED

(B) aflew eumiiy apeppento wpmitd seés Hun ()

©C) LY mursEs® w[bQJLb F&SE_(Huum®

(D)  aflewaumiliy penmenld, ) 2 (HEUMEESW WHDID S&sL (HUUT(

184. Which of the following is not an assumption for a latin square design?
(A) The row, column and treatment effects are additive
@f The row, column and treatment effects are multiplicative
(C)  The treatment effects do not inter act with the row or column effects

(D)  The error are independently and identically distributed

Gemal(meuareunmer 678 wiSerm sGITSHLL SamwLdlen ienorerd Gamea?

A)  aflens, Coalmbg &ip auflans w;b@ub Cengenean Qumnafler afleanarey gal L LiaTLePLWIZ)

B) aflas, Cwdlpng & eufles wimb Csrgamer Qummeflar  ellenetayser ClLi(HESHD
LIGuoT LR LW G

(C) Gengewenr Quimer elenarey, aflens wHmb Codmpg & cflems eflameareysepen erdli
Aenatay a4pprs,

D) Yeyser eriupy, 55 HLEDILIL LW LT CaTearL g

185. How many number of Latin squares can be formed out of P letters?

Ry — PP G~ P (P-1)!
© P-n1EP-! (D) PEP-1!

P arpsgisseer Qaneam(h erésmen crammanilbans wsS FHITHIEET 2 (Heunss (plgub?
Aa . pPP (B) P!(P-D)!
© P-n!'(P-D! D) PEP-!
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186. Analysis of variance is designed to test
(A) the equality of two population means
W the equality of several population means
(C)  the equality of twao population variances

(D)  the equality of several population variances

wryur’ G uguumie amg GCenganaruiL eugaiamwésiul(Herarg?
A  @rean® wyeow Asradsaer sgrefsafen swflama

B)  voGam epuwew AsrEdseier syrafsaiiar sofane

© @rear® wyew Asrgdsafiien wrmuryer soblae”

D)  ueGem epueo AsTEdsefiar wrmum g e swflama

187. Trend cannot be
W J-shaped in short duration
(B) S-shaped in long duration
(C) Linear
(D) Non-linear

Guré@ @eueurnrs @)\mSsLNsTg
Q)  endwu s d — aigeud
(B) pBeaw_sme S — augeuld

©C) Cplluerer

D)  Cpfwampp

188. Link relative method is one of the methods of measuring
(A) Trend
B>~ Seasonal variations

(C)  Irregular variations

- (D) Cyclical variations
Qevemr st penm ereuperm iarell HeugHETan (e nLITELD
A)  Cunées
B)  umeuste wTmUTHSET

©)  euushp rpuUT(Hser
D) s wryur@aser
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189. To which component of the time series, the term recession is attached?
(A) Trend

(B) Seasonals

W Cycles

(D) Random variation

eI Lp&s] Greifﬁ} Qena sragdsrii euflaslern arps LGH L6 AgrLimyeamLwg)
A)  Curso

B) umeusteb

C)  spnd

D)  @@hsHy wIHUTHET

190. If the origin in trend equation is shifted forward by three years, X in the equation
Y =a+ bX will be replaced by '

@ X-3 ° g~ X +3
© 38X | ® X/

@m BaCurses eswerumlger eww LHOY eparn SETHET WPaGaTadl SeaTaTLILLLTED,

Y =a+bX agub soauriige X —ar oy eearug)

A X-3 B) X+3
X

© 38X | .74
191. A time series consists of —————— components.

@ 2 S ® 3

4 ' D) 5

@ smas0sTLi euflens ——— U@Hamer o ararL_sElwig).

A 2 - (B) 3

©€) 4 (D) 5
- 73 FASTS
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192. A time series consists of
(A) Long-term changes
(B) Short-term changes

(C)  Irregular variations

P’ All the above

@ sTsdsT_iT alfles ————— g6 danaLg).
(A)  pewr are wrmUTHEST

B) Endw sre wrpUr@seT

©) uwrsHp wryUTHSET

D) Qemeu senansgibd

193. The seasonal indices for each mgnth or quarter of different years are called
(A) Chain relatives
(B) Link relatives
(C)  Typical seasonals

W Specific seasonals

paQeurm LIEsHHCHT dg sroumdpCar Caumurrer aiBLESHDEG UmeusTe WIHnSsSlamen
GTETLI.

(A)  smdad grml

(B) Qevenr grm

©) @55 UGS

D)  EINOYGlC umeumser

194. Spencer’s used in 15 and 21 point formula are used in:
(A) Method of semi averages
\M Moving average method
(C) Method of least squares
(D) Simple average method

av@Quensiev 15 whmb 21 yerefl ecumiurBser eraupmar 2 LCwrsliLBSs0ULHSDg ?
A) v syref wen

B)  pamb syTef apenp

(C) B8y auirds e

(D)  eraflu sgmef (penm
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195. The condition for the price indices to satisfy the circular test for four year data is
W Poy Pla Poy Py =1
B) By PPy Py =1
(C) Fy+PB,+Py=PFPg

(D) P+ P+ Py =1

mren s par(hseaier efleurisatlalimbg elae @duiPaafean spns Coreurearg ————— A@ELD.
(A) Fyy By Pyy Py =1

(B) BByl biy=1

(C) Py+PB,+Py=P,

(D) P+ P+ Py=1

196. ——— index is used for deflation of income and value series in national accounts

W Cost of living

(B)  Price

(C)  Quantity

(D) Value

aumorasdear eisssmsuw, Csflu sarsgseaiar wHiy Qsrier srar ——  GHWUEH
uweruhEmg.

A)  ampsams sy

(B) ellewe
©) ey
D)  wéiy
H 175 FASTS
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197. Paasche’s formula generate ———— in index number.

\y Downward bias

(B) Efficient
(C) Unbiased

(D) Upward bias

LiTevsd G587 GHSLE eramailh —— 2 HanbELD.
Q) & Cprag Yipné

B)  Spen

©C) YGmp&s @aemamio

(D) Cwalsrss Spné

198. ———— index number is known as ideal index number.
(A) Laspeyrer’s
(B) Paasche’s

W IFisher’s

(D) | Kelly’s

@@USLG;G@T el @HluSL GL_ewr crendlGomid.

A) QemdiGwur

(B) umevélen
@ Beien
D) Qscled
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199.  Unweighted price index formula is

(A)
B)

Most frequency used

The best

W Seldom used

(D)

Not at all used

fHleneulaver eflaney GMuSLH erarmenflen @SS\ rd

(A)
(B)
©)

D)

3llg &Gy LIWIGTU(HSHSISOTGLD
s Sppe GCairey
eruGursTeug LiLGTL(HSSHISEMGLD

eriGungGio uuehu@eug_f,]ei}aﬁam

200. The normal distributién is always

A)
(B)

Bimodal

Asymmetrical

\@/ Symmetrical

D)

Unimodal

QuievBleneiLiTaued eriiGuimg)n

(A)

B)

(©)

@)

@riaL s { wHuungb
FEETHDSTGLD
FLOEFTTATSMTELD

@nenp W&L(H wHium@
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Read the following instructions carefully before you begin to answer the questions.

[y

10.
11.
12.
13.

14.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are requested
to check whether all the questions are there in series and ensure there are no blank pages in the question
booklet. In case any defect in the Question Paper is noticed it shall be reported to the Invigilator
within first 10 minutes and get it replaced with a complete Question Booklet. If any defect is
noticed in the Question Booklet after the commencement of examination it will not be replaced.
Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles (3) ,®), © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

o) NOR®)

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination.. After the examination is concluded, you must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.
The sheet before the last page of the Question Booklet can be used for Rough Work.

Do not tick-mark or mark the answers in the Question Booklet.

In all matters and in cases of doubt, the English version 1s final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




